m B Al B KSR R

(1Y 7E)
o & B HEGR)  HEG% ZE & @ (%) THH
1 X ] &t 192, 815 22.7 1 11,002, 845 247 12
2 | J v — 7 92,890 13.8 2 5,959, 853 13.4 64
3 | h - F* — H 74,950 1.1} 4 3,516,413 1.9 47
4 N z & 36, 006 9.3/ 9 3,332,212 1.5 93
5 | -] 35,670 5.3 17 1,630,913 3.7 46
6 z % & 25, 368 3.8/ 6 2, 856, 053 6.4 113
1 B & & 23, 450 3.5 3 3,751,545 8.4 160
8 A + Y 9 17,196 2.6/ 9 1,161, 531 2.6 68
9 7o —- R z 15, 850 2.4 13 926, 313 1.2 33
0" 2 42 —F — R 14,975 2.2 12 687, 146 1.5 46
"nm 2 4 + E — 14,060 2.1 14 363, 405 0.8 26
12 Jx=v VR (B) 13,110 1.9 15 288, 593 0.6 22
13 = e 11,690 1.7 8 1,442, 385 3.2 123
14 | A El #H  E 11,252 1.7 1 1,049, 265 2.4 93
15 | R + Y 7 9,980 1.5 16 236, 145 0.5 24
16 | ( % ) 0,132 0.8 10 1,056, 353 2.4 206
17 |4 C & ) & 5,080 0.8 17 197, 873 0.4 39
B v 7T v (%) 4,500 0.7 20 141,278 0.3 31
97 3 v+ 3 R 2,800 0.4 18 178, 264 0.4 64
20 | 77 1 7 2, 640 0.4 19 150, 833 0.3 57
21 Y E 3 2,080 0.3 31 26, 880 0.1 13
22 | 7 1 y, A 1,900 0.3 25 70, 088 0.2 37
23 ¥ 3 v (¥ ) 1,609 0.2 28 48, 500 0.1 30
24 \F 2 — U v T 1,550 0.2 22 116, 550 0.3 15
25 T = U H (%) 1,500 0.2 32 25,725 0.1 17
2 272 U - v 7 1,300 0.2 24 76, 650 0.2 59
21 | X+ L 7 950 0.1 21 120, 068 0.3 126
28 | K il 870 0.1 23 99,015 0.2 114
29 7 ARYa1—AL4 125 0.1 26 62, 601 0.1 86
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i 2 = wEG) R T g B L (%) FHEIE
30 |1 By ~ 1) A 600 0.1 40 630 0.0 1
31 a—AHh Y (%) 569 0.1 27 57,120 0.1 100
32 7 h LT O (B) 380 0.1 33 20, 160 0.0 53
33 | & 1) 7 369 0.1 30 42,336 0.1 115
34 VA T L - 350 0.1 38 8, 400 0.0 24
3% | A 2 — 340 0.1 29 48, 300 0.1 142
36 7 N L T 7 250 0.0 35 13, 650 0.0 55
KV & «( ®&% ) 90 0.0 36 12, 285 0.0 137
38 ¥ ( (53 ) 80 0.0 37 10, 395 0.0 130
39 Fo4&a Y (%) b5 0.0 34 17, 640 0.0 321
0 v v U (%) 3 0.0 39 1,050 0.0 350
1 z 0O oy E 43, 642 6.5 2 1,069, 394 2.4 25
2 £ 0O o1y TE 38, 391 57| 1 2,512,850 5.6 65
3 | o ot Y 7,102 1.1 3 563, 939 1.3 79

1] v 1€ B 674,119 100.0 44, 553, 437 100.0 66
(#1)
o 2 = HEGH) RO T & 38 LI (%) FHELE
1 DS AY (8F) 2,985 26,1 2 1,457, 306 21.0 488
2 EEXf-A (#8) 2,364 207 4 285, 989 4.1 121
3 KAV FT7 (8F) 1,467 12.8) 3 658, 529 9.5 449
4 '3 v ( &% ) § 952 8.3 1 3,248,700 46. 8 3,413
5 hASrax (8F) 319 2.8| 5 66, 308 1.0 208
6 TULS (85)E 308 2.7 17 42,315 0.6 137
i Na=7 (%) 196 1.7/ 6 51, 555 0.7 263
8 ] ( # ) 104 0.9 11 16, 380 0.2 158
9 /N T ( &% ) 101 0.9| 10 27,983 0.4 271
10 S x a1\ (8%) 90 0.8 8 40, 058 0.6 445
11 TS Za—L4 (§) 16 0.7| 14 5,838 0.1 11
12 7Y LT (#%) 33 0.3] 13 8, 663 0.1 263
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i % B WEGH LR M & @ HE(%) FHHE
B 4 RFT 2 (#%) 21 0.2 12 15, 855 0.2 587
14 7 FF X (&%) 10 0.1 9 30, 450 0.4 3,045
T £ o M &% 9 2,401 21.0) 1 984, 386 14.2 410

£ ) &t 11,433 | 100.0 6,940,311 100.0 607

(20t
o % B HECK/8/E) HEO T & @ (%) T
1 ft ] & 20, 064 97.1] 1 1,160, 040 79.6 58
2 1R H 200 1.0 8 1,980 0.5 40
3 & X 100 0.5 6 12,432 0.9 124
4 '3 L (8 ) § 6 0.0 4 24,150 1.7) 4,025
5 T ( 87 ) o 0.0/ 2 30, 450 2.1 6,090
6 FS> €+ (#8) 4 0.0/ 5 18, 900 1.3 4,725
T 0 v (#8 ) F 4 0.0/ 3 30, 450 2.1 1,613
8 |V ( 8 ) &t 2 0.0 7 11, 550 0.8 5715
1 T OB REEY 255 1.2 1 153, 867 10.6 603
2 TOMEKRER 25 0.1 2 6,615 0.5 265

z ) fit &t 20,665 100.0 1,456,434 100.0 10
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